SPINDLE CLAMPING SYSTEM

Chum P@ :

MAS 403 PULL STUD TYPE CLAMPING H7IF/[L MAS 403 PULL STUD TYPE CLAMPING

3 = 8

Design Features *

1. All the above materials are composed of alloy steel,

2.The Gripper is In aceordance with the global standard of Pull Stud JIS6339 (MAS403) system.

3. Grippers are developed for integrated and comprise four clamping segments which is suitable for high and
low-speed turning spindles.

4. The surfaces of Grippers are wear-resisting, anticorrosive and special tensile force treatment. The tensile force can
bear 1,000 KG force which means 3 million times of lifetime testing circle in our each Grippers. (™ie.BT40)

5. Easy to assemble and suitable for every type of spindles.

6.Our Grippers adopt the rules of BERG, OTT and Réhm standards.

1. PURE T B Ll 2 B

2. O T FRTIS6330(MAS 403) R LR

3.~ AR WA A R T

d. TR SFRTREIF BT FE ~ RO B2 S5 TR IR D + R EBifEE 3 dr i AU T AR 21 000K g ~ 30085 2 (+*BT40.5 F)

5. RS ARMEARE) - S SRR Lk Brsoana

6. BRI #BIOTT ~ BERG ~ RROHMZ G #1511 —

(R

e

] = [ T R - |
£ =1 o g ] I &
5 i e
{ o

e Tl
-3

e

S X 2 4~ S T 550 T f
90001 BT30-45° 45°

90002 BT30-60° 60° 19 178 | 202 | 10 24 50 | 47 | MI10*1.5P
90014 BT30-90° 90°

9002098  BT40-45° 45° '

9002198  BT40-60° 60° 28 2.4 | 285 | 16 5 82 ‘?0 M16*1.5P
9002298 | BT40-90° 90°

90023 BT50-45° 45°

90024 BT50-60° 60° 43 404 | 435 | 22 54 98 | 90 @ M22*1.5P
90015 BT50-90° 90°

90035 BT60-45° 45°

90034 BT40-60° 50° 62 586 | 625 | 30 77 130 ‘ 125  M30*1.5P
90037 BT60-90° 90°

ST 0 TN 00 T S S B T i
90001 BT30-45° ' ' '

90002 BT30-60° 20° 37 7.5 35 3 3  205| 35 10
90014 BT30-90°

90003 BT40-45°

90004 BT40-60° 26° 52 10 45 | 6 4 33 5 18
90005 BT40-90°

90006 BT50-45°

90007 BT50-60° 35° 69 16 5 9.5 5 37 5 a5
90015 BT50-90°

90035 BT60-45°

90036 BT60-60° 40° 96 23 65 | 16 5 495 11 70
90037 BT40-90°

CAT PULL STUD TYPE CLAMPING YJf/T. CAT PULL STUD TYPE CLAMPING

= 4

= CAT30-47.8 | g min
= CATAD-68.4 h

= CATS50-101.75

Design Features

1. All the above materials are composed of alloy steel.

2.The Grippet is in accordance with the global standard of Pull Stud JIS6339 (MAS403) system.,

3. Grippers are developed for integrated and comprise four clamping segments ;which is suitable for high and low-speed turning spindles.

4_The surfaces of Grippers are wear-resisting, anticorrosive and special tensile force treatment. The tensile force can bear 1,000 KG force which
means 3 million times of lifetime testing circle in our each Grippers. (**ie.CAT40)

5. Easy to assembly and suitable for every type of spindles.

6.0ur Grippers adopt the rules of BERG, OTT and Réhm standards.

e IRt

1, PR TUR iy LA 7 S B

2. P IR R FE 1S 6330(MAS 403)1HEBY e

3. — A AT 3R T 5 5 O A 2

4, [T FEFBR FE BE ~ B i 2 B TR - B R TR S A B AT R F 000K g ~ 3008820 ot CATA0ER B

5. PRI SR ARG + SRS & LR T E A A

6. FGHEHEROTT - BERG ~ AROHMZ #HH K

1~ oA T SO YO - N S T N - f

. 90025 = CAm0 19 178 195 10 24 | 50 | 47  MIO"L5P
90026  CAT40 45° 28 264 285 16 35 8 70 MIELSP
90027 CAT50 43 404 435 22 | 54 %8 90 M22*1.5P
CQ&&ND. | %;;ﬁc,‘ i k | ;_ m , i a : P | hL Fskr;iax
90025 CAT30 20 37 75 35 3 33 25 10
90026 | CAMO | 26 52 10 | 45 7 | 4 | 50 | 4 18
90027 = CAT50 | 35 49 16 | 5 | 95 5 | 58 45 35

W
5o
=
=
@
O
=
3
=5
=
[{=]
2]
<
o
-k
@
3




o

z

D-03

SPINDLE CLAMPING SYSTEM

Chum P@ i

DIN69872 PULL STUD TYPE CLAMPING UUii/[\ DIN69872 PULL STUD TYPE CLAMPING

Design Features :
1. All the above materials are composed of alloy steel.
2. The Gripper is in accordance with the global standard of Pull Stud 1156339 (MAS403) system.
3. Grippers are developed for integrated and comprise four clamping segments, which is suitable for high and low-speed tuming spindles.
4. The surfaces of Grippers are wear-resisting, anticorrosive and special tensile force treatment. The tensile force can bear 1,000 KG force which
means 3 million times of lifetime testing circle in our each Grippers. (*ie.DIN40)
5. Easy to assembly and suitable for every type of spindles.
6. Our Grippers adopt the rules of BERG, OTT and RGhm standards.
i IJ-. J;III
1. U L e SR
2. HPIEHTUEAR AL IIS6339(MAS A03)ERHE I
3. — AT A A A R 2 L
4. NH Zemsaat s #5 - B0 2 FF 2R L » RPN Syt B0 78 2 1000K g ~ 3008520 (++DIN40E )
5. ERH SR MERAL « B A TR Ll
6. BRI #EOTT ~ BERG ~ B ROHM.Z R HEI

= +
% DIN30-47.8 e g min
= DIN40-68.4 | n
5
£
— o
= Q--
= Yo w | B
| S -
| R |
hL P

OTT PULL STUD TYPE CLAMPING UJ[E/T. OTT PULL STUD TYPE CLAMPING

EMA0.1

Design Features @

1. All the above materials are composed of alloy steel.

2. The Gripper is in accordance with the global standard of Pull Stud JIS6339 [MAS403) system.

3 The surfaces of Grippers are wear-resisting, anticorrosive and special tensile force treatment. The tensile force can bear 1,000 KG force which
means 3 million times of lifetime testing circle in our each Grippers. (**ia.BT40)

4, Easy to assembly and suitable for every type of spindles,

5. Qur Grippers are followed the examples of OTT and Réhm standards.

OB

1. PO TUREHER LL o Bl R

2. FEPORE T SR FTIS6339(MAS 403)FHERIFE

3., JTUR FETTATIR I #E ~ b7 180 00 2 ¥ IR R R + RORERSTRE S ERIE 7T AR 52 1000K g ~ 30085 (**BT40ER )

4, TRF] SRSl HI A TR L

5. [ELCEE EMOTT EROHMZ 31 I

Codﬁch. S%E:’ : A° a b c d e g h f
90028 DIN3D 19 178 | 195 10 24 50 47 M1D*1.5P
90029 DIN4D | 1se 28 | 264 | 285 16 5 a2 70 MI1B*1.5P
90030 DINSO | 43 404 | 435 22 54 98 90 M22*1.5P

( 5 Spec. F

Cog‘gje ai I B i k | m n o p hL sk",]ax
90028 | DIN30 20 37 7.5 35 4 3 19.5 35 10
90029 | DIN4D 26 52 | 10 45 7 1 39 5 18
50030 | DIN5O 35 69 16 5 9.5 5 48 8 35

D-03

BT
Code No. Spec. ejection path

LT BT xe MR D L I EM_ M TR
90051 BT30-45° 19 109 23 70.4 M10x1.25 1
90052 BT30-60° 19 109 23 704 M10x1.25 L
90053 BT30-90% 19 109 23 70.4 M10x1.25 1
90054 BT40-45% 27 143 245 99,7 M14x1.5 0.65
90055 BT40-60" 27 143 245 997 M14x1.5 0.65
90056 BT40-90° 27 143 245 99.7 M14x15 0.65
90057 BT50-45° 40 188.5 31.5 145.75 M16x1.5 1
90058 BT50-60% 40 188.5 31.5 145.75 M16x1.5 1
90059 BT50-90° 40 1B8.5 35 145.75 M16x1.5 1

CAS— de N g
ode Na. ec. jection path
Wi, 3 D L i EM MR
90060 CAT 30 19 109 23 57.7 M10x1.25 1.6
90061 CAT 40 27 143 245 829 M14x1.5 1.6
90062 CAT 50 40 188.5 3.5 126 M16x15 1

DIN

Code No. Spec. jecti

oy A D L " EM M clecionpath
90063 DIN 0 19 109 23 70.7 M.'l UK1_.25 1
90064 DIN 40 27 143 24.5 936 M1dx1.5 0.65
90065 DIN 50 40 188.5 31.5 134.6 M1Ex1.5 1

D-04

W
=
S
2
®
)
=
3
S
5
[{=]
w
<
o
—F
@
=




SPINDLE CLAMPING SYSTEM

ROHM PULL STUD TYPE CLAMPING UJE/[\ romM PULL STUD TYPE CLAMPING

Ejection Path

| | | |

e B M 8 A B|C D E | _F G H J : K| L M| h léj‘*ﬁ%‘%"f‘h!
90201  BI30-45° 45° | '
90202  B130-60° 40° 3175 195|245 195 20  MIOx125P 12 | 714 635 80 | 135 19 | 45 05 |
90203  BT30-90°  90° '_
90204  BT40-45° 45° i
| 90205 BTAD-60° 60° 4445 276 | 40 34 345 MI4xI5P 16 1004 865 117 170 27 45 10
90206  BT40-90° 90° |
_ 90207 | BIS0-45° | 45°

90208 | BIS0-60° 60° 69.85 43 | 56 | 49 | 49.5 MI6x1.5P 20 147.4 1265 163 | 230 | 40 | 48 10|
90209 | BI50-90°  90° '
FodsNO- i?;’imJ ] A B | C|D | E l' F G H J I K | L| M h i~‘-'j~‘-‘*=‘cEi0niath
90210 | CAT30 31.75 195 245 [ 195 20 E 12 | - | 635 80 125 | 19 - E
90211 | CAT40 | 90° 4445 27.6 40 | 34 345 MI4x15P | 16 836 795 117 180 | 27 | 5 1.0
90212 | CAT50 6985 43 | 56 | 49 | 49.5 M16x15P | 20 | 126 1265 163 | 230 | 40 | 6 1.0
Colshe DRS gl o LA LR Lc bp LE L G H L LK L L LM | n cjectionpath
90213 | DIN30 | 3175 19.5 245 195 20 | MIOx125P| 12 713 6 635 80| 135 19| 36| 05
90214 | DIN4O | 150° |44.45 27.6 40 | 35 | 345  MI4x15P| 16 982 7 865 117 170| 27 | 38 1.0
90215 | DINSO 6985 43 | 53 | 49 | 49.5| MIéx1.5P | 201366 8 1265 163 230| 40 | 48 1.0

D-05



SPINDLE CLAMPING SYSTEM Chum POwer)

Spray Nozzle Series Spray Nozzle Series
Press Fit Type Thread Mount Type

The Coolant Spray Nozzle could easily adjust its direction and spray precisely. When the

o

coolants correspond with three pressures-low, medium and high pressures, it can improve cooling
14: efficiency of tools, They are suitable for CNC Machine Center, CNC Lathes, CNC Milling

28

Er':‘;?. Machine, Grinding Machine and so on. The products can enhance the processing efficiency

and accuracy. Also it is helpful for extending the lifetime of tools and decreasing the cost.

WE K EE R Y]

W
5o
=
=
@
Q
™
3
=5
=
[{=]
wn
<
o
-k
@
3

p— - -
gg__- AT R IR A A - R - o R AT - B D ELS AR - R A R - B - HERSE
a FHEUTEES - LT R T A T B SRR R TELGE S A AR el A £
FIG3 FIG2 FIGI
i
D-09
f [\ o
=l 8 TS ] Ei
The Coolant Spray Nozzle could easily adjust its direction and spray precisely, When the ol | ¥ "
coolants correspond with three pressures-low, medium and high pressures, it can precisely u L L ‘ 5
aim at workpiece. They are suitable for CNC Machine Center, CNC Lathes, CNC Milling '
Machine, Grinding Machine and so on. The products can enhance the processing efficiency
and accuracy. Also it is helpful for extending the lifetime of tools and decreasing the cost. Code No. Thread mount " I % [ - 1 - I - n
9011100 PT 1/8 20 ' '
: ; ; 9011200 PT 1/8 40 | 10 6 5 4 17
KBRS mEn 011000 PTi/6 60 | _ | _
TTFERESHSE K LA - M RORPEEAE ~ o ~ T AIEMEE - TEREVE Y - SRR R ~ LK ~ T 9011300 PT 1/4 20
A TR o R R TS I LR BASIE A + T D EE B L E R B AL R A o iR T - - = 1
9011500 PT 1/4 40 |
9011600 PT3/8 | 30 |
2011700 PT 3/8 a0 | 13 8 10 & 24
Nominal dimensions mm Ball dia Allowable tilting angle degree FIG 9011800 PT 3/8 .70
Code No. iy : - . DE T 9011900 BTL2 40 [
T 0 T " 5 W P _ 9012000 PT 1/2 0 | 18 10 12 8 32
90101 15 - . = 8 - | 4 716" 29 ] $012100 PT 1/2 80
| I | / I | . 9012200 M10*1.25P 20
80102 15 | @b - 14 | e6x6l = 716" 29 24 9012300  MI10%1.25P 40 | 8 & 5 4 17
90103 15 - | M508 06 8 - Msx08 = 25 7N’ 2 5 9012400  M10*1.25P 60 S [S—
90104 12 | - | 7 | Msx08 - omm | 28 1 9012500 | M20*1.5P 30 |
i i i i i i i i i i 9012600 M20*1.5P 50 13 8 10 & 24
90108 0 - : T 55 | - [Maxor | - 9mm 2 ! 9012700  M20*1.5P 70 |
9012800 M24%32 0P 40 |
9012900  M24*20P &0 18 10 12 8 31
9013000  M24*2.0P 80
2013100 NPT 1/4 20
9013200  NPT1/4 40 10 6 5 4 17
9013300 NPT 1/4 &0
2013400 NPT 3/8 a0 |
$013500 NPT 3/8 50 | 13 8 10 -] 24
f013600 NPT 3/8 70



SPINDLE CLAMPING SYSTEM Chum POwer)

Spray Nozzle Series
Plastic Type Spindle Accuracy Testing Bar
= dih g L e

The Coolant Spray Nozzle could easily adjust its direction and spray precisely. When the

coolants correspond with three pressures-low, medium and high pressures, it can improve cooling

W
=
5
2
®
)
=
3
S
5
[{=]
w
<
o
—F
@
=

efficiency of tools., They are suitable for CNC Machine Center, CNC Lathes, CNC Milling Features:
Machine, Grinding Machine and so on, The products can enhance the processing efficiency 1. Accuracy Guarantee
and accuracy. Also it is helpful for extending the lifetime of tools and decreasing the cost. 2. Complete Product Range
S
1. ¥R Rl
2. BEFERE
Wik b g
Ty F— — O]
A {ERREE A T L » AT OB ~ o~ AR « 12 L LS BN - SRR A RS ~ REEE - HEEY = - : |
S T EH - IS o R A THE RS TR BhRE B T R S o inb D A EE -
chﬂ(i&hiu. .S!ze . D - L
" SWA0001 BT30-250 30 250
o SWA0002 AT40-350 40 350
| SWA0003 _ BT50-350 | 63 | 350
= SWA0004 NT30-250 30 250
It _ SWA0005 NT40-350 | — 40 | 350
al _ SWA0006 _ NT50-350 | 63 _ 350
L SWA0007 | HSK32-250 30 250
FIG3 FIG2 FIGI SWA0008 | HSK50-250 | 40 | 250
SWADDD9 HSK63-350 63 | 350
S H Ll 11 D d | FIG
3 | 1
|
3 -
38 | 1
44 | 1
s |
s | 2
§ | 3
3.8 | 3
4.4 | 3

D-14



SPINDLE CLAMPING SYSTEM

EZ-BAR
LASER COOLANT POINTER & i} 38 /k %

Introduction & Features

* The Laser Coolant Pointer is designed for the machines where you need to adjust the
coolant Spray Nozzles of the spindle.

* The main purpose is for the operator to correct the angle of coolant water and to prevent
the operator from being sprayed by the coolant water.
Leading by the laser coolant pointer can be adaptable for every kinds of cutting process
(as Fig.1 and Fig.2 ).

* At the same time, it can improve the trouble of occupying too much space for the

traditional adjustable coolant system hoses.

5

T A R o A P (BT 1127 01 A 0 1) LB 1 =

* B SR ARG - WA TR EEmUAIT . g i f
CHREL ® ~ 200 LTI i T ) B T S gj

o (R S A A 2 AN A B o 2 A R - | Weihpiees W e |

Fig. 1. Drilling  Fig. 2. Face Milling
E1 7 E2 mit

Name of each parts(Fig.3) &2 4 80 ([3)

1. Laser Head 1. fEsteE

2. Big O-Ring 2. ROMIE

3. Battery 3. B

4. Body 4. i !

5.Small O-Ring 5. hoHIE I & 3 ko w2 1B
s z = % Fig. 3. Expleded drawing

6. Adjust Link Stick 6. PR E3 SEE

The Code No. & Spec. of the Adjust Link Stick (Fig.4)
IREERIRRERNE - T REE4FTR

Code No, Spec.

901001 A LB Ll c Y

90100L-AA  @émm | Smm -

90100L-BB | - | - p4mm | 7mm

90100L-CC | - - @smm  Fmm | :

90100L-DD @6mm  7mm Fig. 4. Adapter Spec.
@4 SRS

D-15

Installations & Attentions
% Please confirm the following steps before installing :

Big O-Ring & Small O-Ring to avoid infiltrating the water.
» The negative of battery shall be headed forward the Laser Head.
« The inner of the Body shall insert the plastic cushion to avoid the results of short circuit in the

negative of battery & Body.

woysAg Bu!dwém a|"pu!ds

¥ Installation *
* After you confirmed as above, you can assemble the all parts according to Fib 3

E] L 7
BOGTFHERL: -+ rvvvemsererreresoessssnnes s e

oG A+ TRERRAE S TA TR 9 2 RIS (1 KO BB R ORI =

L P R 5 -

AR P A NS o A LEE S S £ BB A S A R -
GEBE e

ol 2 DTS o (IR 3 AR (M e B AT =

Artentions on Usage & Maintenance

* When the Adjust Link Stick is screwed in the Body completely, the Laser Collation Bar is
under the condition of "ON".

* After correcting the position of the Fountain Outlet, please screw out the Adjust Link Stick
slightly. It'll avoid the unnecessary consumption for electric power.

* To check the cleanness of the lens of Laser Head as regular. If it is dirty, you can wipe it
with the cotton bud.

* To check the O-Ring as regular, if it keeps the elasticity and without transfiguration
to avoid infiltrating the water.

» You may not aim to your eyes by 650nm Diode Laser. Otherwise, it'll hurt your retina.

A fEEEERE

o5 BN ST S M AR » W B RO R 2 (R AR S

*VEDK L] A G B RIS %+ SN S SR AT + RV AE -
o 2 A T G R [ L P - ORI AT AR TE R T iR b o

< Wl Ao MBI S IRFTRIE BTG - LIk -

o 1 A SRR M5 R SR HEARA - LS S I R S R A



o

4+

D17

SPINDLE CLAMPING SYSTEM

Chum P@

Hydraullc Drawbar(integrated Design)

APFUCAT-'ON

| When clomped, the drowbar is locked through the wedge surface with high power fransmission,
\ Prevent the cutting tools from slipping.
B With stroke contral
B Force- amplification: 3 times
O KR EERERENRN - ERNEROUS#INE - BRREAERD -
0 FaPERE TIET
0 TR .
(sB - pal 1l

-8

B
[T IHIILI

PT1/4
Co&gﬁhlo. Ti‘é?{f A B c | D £
9200110 40# s M35xP1.5 a2z 2246.5 17
9200115 ‘ 504 | 48 | M45xP1.5 41 | 257 | 19
TYPE | f200110 9200115
spring pressure in clamping position 4000 N 7500 M
spring arrangement 1-fach / single 2-fach f double
pull force in clamping position ca. 12000 N ca. 25000 N
speed 12000 min-! 12000 min-!
opening force 80 bar 100 bar
opening force max 120 bar 120 bar
piston-@ 48 - piston area | 17,35 cm2 | 17.35 cm?
coolant lubrication - =
air - -
wedge stroke 16,1 mm 16,1 mm
’ronImclurﬁbir'wg stroke 6,2 mm 6.2 mm

Rotary Jomf

[we7
B
sbElH, 0.0
A L
=
1/B"NPT
Code NO.
i 5. L
9200120 58 M10xp1

D-17

Dlglfﬂf Torque Wrench

_~ R
Chwm PLWer

T o oo 0568
=
b
=1
nonnen

@u@;j

w
E.
=
Q-
®
)
o
=
S
=
@
w
<
o
=
)
=

L1
Code NO. Square Drive L L1
AU E (inch) {(mm) | (mm) Max. Operation Range Alarm Sefting Range
135 N-m/99.5 f-ip 6,8-135 N-m/5-99,5 FHo
STEOOOT | 3/8 374 92 1195In-Ib/1378 kgrem | 40~1195 in-Ib/69~1378 kg-cm
135 N-m/99.5 -0 68135 N-m/5-99.5 f-Io
STEOOO2 1/2 374 92 1195 in-Ib/1378 kg-em  60~1195 in-Ib/69~1378 kg-cm
200 N-m/147.5 b 10-200 W-r1/ 7 4-147 5 fi-lb
STEOOC3 1/2 470 189 17701n-Ip/2041 kgcm | 88~1770 in-b/102~2041 kg-cm
340 N-m/250.7 fi-lb 17-340 N-m/f12.5~250.7 It-k
STECOO4 1/2 589 308 | 3009 inio/3465 kgcm | 150-3009 ir-ib/ 1733469 kg-cm
Head
% =F 385

Co{ggﬁNO,

STE3001 ER16&
STE3002 ER20
STE3003 | ERZS
STE3004 ER32
STE3005 | ER40
STE3006 ER50

25
30
37
45
58
72

: z ( FoD =
i — rJ /
M PR 4
| A\ /

Flg-2

~
(=]
bR R R = —




